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A Convet intO iitreS 

57L-7000 m 

=xlCtO=7000m] 

66L 4HO.ml=l6,HLOml 

L Lhoml=oLLHOm=16CCO mltLLuOml 
64homl



71L=\2,CO0m] 

2LE 2xloo0= 12,C00.0m 

g L 575 m)=24,5750m EnE 

DALS75m= 24L+575ml=04000.ml+ 275m) 
04)575ml

Q15=5000ml 

NSL= \XIO00= 500om) 

0)32 34oml=32,340ml 

3L LOM) =30L+3aoml=32000m+340nd 
S323Om)

58,000 ml= 

S000ml=8000I000=BL 



Dete 
Poge 

7o4s ml= |L OHs m 
Z05ml=7000-+O45ml=7L 04SM 

2))375 m)=L 32m 

375 )= l000+3750)=|L375mi 

B8075ml-L05m 

8,075mnl=8000+075 ml=8L 05m) 

)8,4oD ml=8|L |Loo.ml 

B,4cO.m)= 8000+400m=8LAOom) 

o9.cgo.ml=L090m 
9,090.ml=9000+9o m= QL OgOmn 
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